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SN BALSY
M MEDZ 2A
& NGHMEHEN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 70,000
01 A& HI 200,000 0 200,000
0 S&d ZFX MESH HXAY (14 200,000
< 130,000
[ia 70,000
MEHZAL & 2LIHE 5,000 5,000 0
307 21201 A 5,000 5,000 0
05 RIZt2IEt = 5,000 5,000 0
0 MEHStE 25 &8
SESsXN 2UHE 14 « 5,000,000 5,000
SES SNHl 42 NJAEBHANE =4 400,000 157,420 242,580
= 200,000
< 60,000
e 140,000
401 Al HIZ 201 8] 400,000 157,420 242,580
= 200,000
< 60,000
e 140,000
01 A& HI 397,500 157,420 240,080
0 MEXJFEHAE =4 AtHI(14]) 397,500
= 198,750
S 59,625
s 139,125
03 AlE 2 THHI 2,500 0 2,500
0 METUIABHEAE =4 ALY 2,500
= 1,250
< 375
[ia 875
JI=Hst HEd SdAY 200,000 0 200,000
= 100,000
e 100,000
401 Al HIZ 201 8] 200,000 0 200,000
= 100,000
i 100,000
01 A& HI 200,000 0 200,000
0 KIcIAHMENDFerat SHEIN A 200,000
= 100,000
s 100,000
HE2IZH (BZE2SH) 2,687,409 2,356,541 330,868
EIH (2 E2S ) 2,652,809 2,322,541 330,268
ol 2| 2,652,809 2,322,541 330,268
101 @124l 2,652,809 2,322,541 330,268
03 RIHAZ 22 2,652,809 2,322,541 330,268
0 2A30/3H&(37Y) 2,652,809




M BAES
M HY2IZH(#ZESD)
Chel: o2 dy(#AL S ) CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s 2,089,950& = 37H » 12& 927,938
yasg
2,839,980 = 37H * 50% = 23 105,080
M= et
2,839,980 = 37H * 50% = 53 262,699
IFE==Y 30,0003 x 4H » I7H » 128 53,280
Exgf¢ 120,000& = 378 » 12& 53,280
AT 100,000& » 37H » 12&8 44,400
ANEIZ22(HIISHE)
120,000& = 9 « 123 12,960
JHAIE = 110,000& = 37H » 128 48,840
wsE x| 140,000& » 37H » 128 62,160
HEF O
2,839,980& * 37H » 60% * 2 126,096
AZtel 224y
17,5203 = 37H = 40A12t = 123 311,156
ga224y
140,230& = 37H » 2& » 128 124,525
ARRITHA+Y
93,4903 = 37H » 12¢ 41,510
THASH B R+ (DS8HM)
350,000& = 10 = 43| 14,000
2013 R4 =H|
1,000,000 * 594 5,000
Il =l 200,000& = 374H 7,400
SZ0Istd Izl BEx0S
1,000,000 1,000
oft2R=g(HII2Mel &)
8,760% * 3" * 8AIZH » 200 42,048
ORS¢ (SH9)
8,760% * 10H * 40AI2+ » 123 42,048
TESE 175,200 * 378 * 123 77,789
LR 50,000& = 37H » 123 22,200
S$Z0Istg S3u=
50,000& = 37" =« 43| 7,400
o EXZ(2Y) 130,000,000& * 2% 260,000
l2du (2385 n) 34,600 34,000
JlE&l 34,600 34,000
201 L2l 30,400 30,400
01 At 2t 2l 30,400 30,400
0 YBt=+=ZHI(SS) 800,000& * 1944 15,200
0 SH(BE) 8,000& = 198 = 100 15,200
203 YR =&l 4,200 3,600
04 REN2ELRZ=LH 4,200 3,600
0 BM2Z 350,000& » 12& 4,200




PN BAESH
H: WRES(S#ZEsH)
o BEXE (chel & 9l)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HRas(sd2sm) 2,644,600 168,600 2,476,000
SHEXNE 57,600 168,600 A 111,000
ANZRXGNLISHES 0K 57,600 0 57,600
311 X+ 201 Xk &k & 57,600 0 57,600
01T Al -2 - RXNSHLISXHL SO X4 & 57,600 0 57,600
O M2MEHIISM2E &AL X &0l
Xt 3,200,000,000 * 1.8% 57,600
HEAHHK = 2,587,000 0 2,587,000
LHEHeH X = 2,587,000 0 2,587,000
701 JIEtSI HETES 987,000 0 987,000
01 JIEtSIHE &S 987,000 0 987,000
0 =EMEII=EE2H d&= 987,000
702 J1S3HES 1,600,000 0 1,600,000
IS8 E3 1,600,000 0 1,600,000

O HIIZXME =HAY K& 1,600,000




